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PUBLIC ADMINISTRATION

Paper 1
Time : 3 Hours : | - Maximum Marks : 150
Note :— Attempt five questions in all. Question No. 1 is

compulsory. All questions carry equai marks-
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b - Elaborate the theoretical models that are implicit in egch'
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of the following statements in about 150 words :

e (@ Despite having found a serious lapse in the decision
that the secretary of the ministry to which he/she
beldngs had taken, a subordinate staff has nothing

“to do but to concede.
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( 2 ) Pub-Adm. I
Development is the center of politics in developing
countries and that the achievement of sustained
development defined in terms of ‘meeting people’s
current needs while preserving nature’s productive
capacity for the future’ remains the greatest

challenges in contemporary public administration.

“It is impossible for the behaviour of a single,
isolated individual to reach any high degree of
rationality. The number of alternatives he must
explore is so great, the information he would need
to evaluate them so vast that even an approximation
to objective rationality is hard to conceive. Individual

choice takes place in an environment of

- givens.”
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Answer the following questions in about 200 words each :

(@ Critically evaluate Abraham Maslow’s ‘the hierarchy

of needs theory’.

() - How did Frederick Herzberg articulate ‘the two-

factor or satisfier-dissatisfier theory’. Elaborate.
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Answer the following in about 200 words each :

(@) Critically evaluate Fred Rigg’s ‘Bazar-Canteen Model'.

(b) How did Max Weber conceptualize internal
accountability in so far bureaucracy is concerned ?

Elaborate your views.
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( 6 ) Pub-Adm. I
Answer the following in about 200 words each :

(@) ‘Bureaucracy is rent-seeking.” Elaborate the

conceptual model that is implicit in this statement.

) Critically evaluate ‘the top-down and bottom-up’

approaches to policy implementation.
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Answer the following in about 200 words each :

() Elaborate the distinction between traditional and-

performance budgeting with examples.

(b) ‘The success of E-governance is context-dependent’.
Do you agree with this view ? Elaborate your

response.
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Answer the following in about 200 words each :

(@) Evaluate the nature of good governance as a
conceptual categoriz with reference to its principal

characteristics.

b) ‘Administrative corruption can be effectively
mitigated by an alert citizenry.” Do you agree with

this view ? Elaborate your respcnse with

examples.
' P.T.©.



( 8 ) Pub-Adm. I

Frfafioa 9=ish 999 o1 SO ST 200 vl § S

@ gITEA @t ggfa w1 ww =i =i @ w9 A
SIEtad I g0 SOl gEa Spifas fagrearesdt
i == SHiTeid |

®) Wwaﬁ@@ﬁmﬁiﬁmm
TR 9 8- e ST wswar ¥ S o9 39
R @ TEEd ¥ 2 o19Y SR ST SEEIV S W™

faargdss Sasd |

Answer the following in about 200 words each :

(@ How did Charles Linablom and David Braybrooke
conceptualize ‘the incremental model’ of public

policy ? Elaborate.

(b) Administrative reform is structural, f)rocedural and

behavioural. Explain.
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Answer the following gquestions in about 200 words each :

(@

®) -

How did F.W. Taylor conceptualize ‘the time-and-

*

motion syndrome’ in public management ? Elaborate

yYyour respounse.

. What are the major components of Hawthorne

Exp‘eriments»that Elton Mayo had conducted during

the period between 1924 and 1932 ? Elaborate.
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